H & 0l & AHS B Ml A

M LXtelZ Mzt
M HAPAZHI(LX2IZ D) (IIEHIIEH
&t JI=Z

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
X2l 3 At 24,240,377 21,936,286 2,304,091
= 2,938,540 3,678,753 AT40,213
s 930,673 477,000 453,673
| 122,200 122,200 0
N 13,000 0 13,000
s 2,286,889 2,503,600 A216,711
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201 ZEt2 & 36,504 29,304 7,200
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= 17,290 21,000 A3,710
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= 17,290 21,000 23,710
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= 9,240 9,118 122
301 LEtEX =S 26,400 26,051 349




2A:

X XH -
o=

2 Atel Z Xl ot

Koty RS (4 -

=l égtHﬂ$L& o (SH9 H2)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlwsz2
= 13,200 13,025 175
= 3,960 3,908 52
= 9,240 9,118 122
01 AISIBE X 2GS (2 UETME) 26,400 26,051 349
oA A X&3
200,000 x11H =124 & 26,400 26,051 349
= 13,200 13,025 175
& 3,960 3,908 52
ey 9,240 9,118 122
NE=E8 HELTE At 206, 181 276,231 70,050
= 78,195 133,173 A54,978
s 18,673 0 18,673
= 35,567 47,197 A11,630
= 73,746 95,861 222,115
LA EYH HARE IZNEAY(EX) 8,858 8,858 0
= 0 5,307 Nb,307
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= 11,625 14,500 A2,875
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= 0 22,500 A22,500
< 0 7,300 27,300
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= 0 20,000 A20,000
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= 0 11,200 A11,200
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7,000,000,000& *1.8% 126,000 117,000 9,000
SlgAgdEd 243t 1,200,000 1,000,000 200,000
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= 659,400 940,000 280,600
SOtete & MSAIE 845t 2,584,441 1,722,486 861,955
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Sty a2tel 26,6%6 25,6% 1,000
= 2,805 2,805 0
< 4,363 4,363 0
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301 LEENS 8,200 7,200 1,000
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s 1,080 1,800 NT20
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(= 1,500 1,500 0
s 104,544 66,244 38,300




SA LXelZ Mt
M sy (NSESFR/UHENS - ERSIIE
Chel: dinE 23t EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
201 er23 | 70,044 35,844 34,200
01 At2teltl 11,525 21,525 210,000
Oggt==H| 7,000 17,000 10,000
—USSH d20E EY o0& 0 10,000 10,000
2 3522l 21,519 14,319 7,200
OuSIIEAAE FAE=H
1,200,000 1200 & 14,400 7,200 7,200
03 A2 I 37,000 0 37,000
OuSSH d=0e EY
18,500,000& x23] 37,000 37,000
401 AlEBIYL LY 4,100 4,100
01 Al&HI 4,100 4,100
OFEX Hat02HCCTV) 7Y
4,100,000 14! 4,100 0 4,100
Sgus=¢ 22X 440,600 440,600 0
= 46,000 48,000 £2,000
< 1,820 1,820 0
= 392,780 390,780 2,000
405 THHF S 96,000 96,000 0
= 46,000 48,000 £2,000
s 50,000 48,000 2,000
01 Tt =S F=HI 96,000 9,000 0
OSgusS=¢ g 7Y
48,000,000 =2CH 96,000 9,000 0
= 46,000 438,000 22,000
i 50,000 48,000 2,000
BIAIZ A 24 X~ 184,000 0 184,000
= 19,500 0 19,500
= 164,500 0 164,500
301 LEENS 184,000 0 184,000
= 19,500 0 19,500
= 164,500 0 164,500
14 JIEt2 4= 184,000 0 184,000
OBIAIZ X 2AMAY 184,000 0 184,000
— L BHELA 24,000,000 *3H 72,000 0 72,000
= 11,700 0 11,700
= 60,300 0 60,300
—IJHQIEA] 56,000, 0002 *2CH 112,000 0 112,000
= 7,800 0 7,800
= 104,200 0 104,200
SEENSDE S3E HAAY 450,000 450,000 0
= 150,000 225,000 A75,000
T 300,000 225,000 75,000




SA LXelZ Mt
M sy (NSESFR/UHENS - ERSIIE
Chel: dinE 23t EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
307 2Ito1d 450,000 450,000 0
= 150,000 225,000 75,000
= 300,000 225,000 75,000
09 2+ AHAELS 450,000 450,000 0
O=Z8 ns2g HA HAEXZ
150,000, 000-& *3CH 450,000 450,000 0
z 150,000 225,000 AT75,000
o 300,000 225,000 75,000
Hete HSEA 29X 353,600 332,000 21,600
= 176,800 166,000 10,800
< 88,400 83,000 5,400
= 88,400 83,000 5,400
301 LEENS 350,000 328,400 21,600
= 175,000 164,200 10,800
< 87,500 82,100 5,400
= 87,500 82,100 5,400
14 JIE2 43 350,000 328,400 21,600
OEct2HIHAl 280 HE F2XNES
350,000,000 *14] 350,000 328,400 21,600
= 175,000 164,200 10,800
< 87,500 82,100 5,400
= 87,500 82,100 5,400
HA HUQSH 29 0 200,000 200,000
307 2I2t01 ™ 0 200,000 200,000
09 2=FAHELS 0 200,000 A200,000
OHA Hees sAEa3 XY
0= 0 200,000 A200,000
HASSEN Etgd & Aot H8E9 50,000 0 50,000
207 ARl 50,000 0 50,000
01 H1ESHI 50,000 0 50,000
OHASYN Etgdd & Aot H15S
50,000,000& »14] 50,000 0 50,000
WSHHAILS =5 4,558,233 4,177,087 381,146
= 0 710,000 710,000
ES 13,000 0 13,000
< 1,339,500 1,315,000 24,500
s 3,205,733 2,152,087 1,053,646
WEHHAIL AX 524,787 389,787 135,000
e 13,000 0 13,000
< 39,500 15,000 24,500
= 472,287 374,787 97,500
401 AlEHIYL S THYI 524,787 389,787 135,000
S 13,000 0 13,000
< 39,500 15,000 24,500




A LRl
M DESHAAL(LELER/ USRS - S7SIIHY)
el WNEHHMAILEE &= (EEEE))
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2Z
= 472,287 374,787 97,500
01 Al&HI 522,000 387,000 135,000
Ol =4 WE & AEMAH LSAY
20,000, 0003 %24 40,000 40,000
< 20,000 20,000
= 20,000 20,000
OADCHE P2+ N3 & I CAHALY
10,000,000 x 14! 10,000 10,000
E 10,000 10,000
020238 2Tt S4 s WS2st ZAA
& 9,000,000 *14] 9,000 9,000
< 4,500 4,500
= 4,500 4,500
O&E8 LB EXY &XIAY
6,000,000 *14] 6,000 6,000
ES 3,000 3,000
i 3,000 3,000
OclIxI2lxl HAEY Uil Xtd L =X &
MAFS 70,000,000 *14] 70,000 0 70,000
SEFRE L (HEALY) 3,243,469 2,679,432 564,037
< 1,300,000 1,300,000 0
= 1,943,469 1,379,432 564,037
401 AIEHIZL 20 3,243,469 2,679,432 564,037
< 1,300,000 1,300,000 0
= 1,943,469 1,379,432 564,037
01 Al&HI 3,210,504 2,670,000 540,504
ONEFIE ZL(HE) sXHE 2Y3
45,000,000 *14] 45,000 0 45,000
ORdY HEs =X ZHAY
40,000,000 *14] 40,000 0 40,000
Ozt Estal2 SEFINE ZEAE
455,504,000 *14] 455,504 455,504
02 22l 23,533 0 23,533
O Zssl2t IEFINE ZLAY 228
= 23,533,000 *14] 23,533 0 23,533
HAZSX DX £4 392,109 0 392,109
401 AIEHIZL20HY 392,109 0 392,109
01 Al&HI 392,109 0 392,109
OREHASER LN =4
392,109,000 * 14! 392,109 0 392,109
& PSS AEAMY 330,000 1,040,000 710,000
= 0 710,000 A710,000
= 330,000 330,000 0
401 AIEHIZL20HY 0 1,040,000 1,040,000
= 0 710,000 /710,000




2A:

g E%@E%EI(E%S—J%%/EH%E% EFSJIE
Chel: NSOHNAIdE &5 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 0 330,000 /330,000
01 Al&HI 0 1,040,000 1,040,000
O=k Z8UsS I=AY 0 0 1,040,000 1,040,000
= 0 710,000 710,000
= 0 330,000 330,000
403 TR M SAH=01H 330,000 0 330,000
02 S 2SS0t et = & 2 EF A | 330,000 0 330,000
O=k 28tz FEMY
330,000,000 x 14 330,000 0 330,000
WPES (LRI BM L) (REL RSN/ AAEHI) 223,503 30,000 193,503
SBEIE(SSXAELEALELIIA) 30,082 30,000 82
=&H BEx3 BHE3 82 0 82
802 grat=DIE 82 0 82
02 Al - EHIEXSEHEZ 82 0 82
020224 THIBExZ H#HXH
82,000 82 0 82
SN 193,421 0 193,421
2&Hl Bx3 BteE=g 193,421 0 193,421
802 grat=JIE 193,421 0 193,421
01 =Ex3etE=a 138,162 0 138,162
02022 2HIEEZ THXHH
138, 162,000 138,162 0 138,162
02 Al - EHIEEXESEHEZ 55,259 55,259
02022 THI2EZ H#HXH
55,259,000& 55,259 0 55,259




